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First Semester 3 Year LL.B. Examination, June/July 2019
CONTRACT -1 (2018 Batch)

Instructions : 1. Answer all five Units.

Q. No. 1.

2. One essay type question and short note/problem
Is compulsory from each Unit.

3. Figures to the right indicate marks.
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Max. Marks : 80

4. Answer should be written either in English or Kannada

completely.

(a) “All contracts are agreements, but all agreements are not

(b)

necessarily contracts”. Explain.

‘QOY, FOIOINTD wTOTNGD, BTT QT L'rijoa’n‘@’a
t’mmﬂaﬁfﬁoﬁeaw DBORD.

OR/uems

“An agreement without consideration is void”. Explain with
exceptions, if any.
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‘A’ made a proposal to ‘B’ in June 2017. ‘B’ accepted it in
August 2018. Is it valid acceptance ?

D WO FIYWSCDZ, ‘W BT 2017 T, w03,
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OR/em=

‘A’ goes to a departmental store and picks an article with
price tag. When he goes to the counter to pay the price, the
shopkeeper refuses to sell the article. ‘A’ wants to sue
shopkeeper for breach of contract. Advise ‘A’.
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Marks : 10

Marks : 10

Marks : 6

Marks : 6
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Q. No. 2.

(a) Discuss the legal effects of minor’'s agreement.

OT,T w3 wLTWOTT FTRTTE TOFITONTIY,
W3 R0.

OR/esg=

“An agreement in restraint of trade is void”. Explain with
exceptions, if any.
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- "A’ contracts with ‘B’ to kill ‘C’ for a sum of rupees one iakh.

‘B’ kills ‘C’. ‘A’ refuses to pay. Can ‘B’ recover the amount ?
Decide.

T IR, RS TRRTT  womd OF TRTRCL =g
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OR/egw

Anand is a spiritual advisor. Bhaskar, an old Hindu man_ is
a disciple of Anand. Anand advises Bhaskar to gift away the
whole of his property to him with a view to secure benefits
to his soul in the next world. Bhaskar makes gift of whole
of his property to Anand. Later Bhaskar wants to cancel
this gift. Can he do so ? Advise Bhaskar.
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Q. No. 3. (a) Explain in brief the various modes of discharge of
contracts. Marks : 10

BOOOINY NIWF N (wﬁ:r{d’)oi: NN amamﬁm Noﬁﬁmﬁ
W=ORD.

OR/egw»

Explain the law relating to time and place of performance
of contract. Marks : 10

30005 R0e080% IO WA IPE HOWOAT TIRAT
WWORD.

(b) Rama promised to marry Seeta after the death of his father.
But he married Suma when his father was alive. Seeta
wants to sue Rama for breach of contract. Advise Seeta.  Marks : 6
TR 3 30030 AFST VST AT SOTTOIrOT)TTN
IO mﬁ?d BREITVS. STWO B[ 3?3 Sod WRIEToeonSe
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OR/ezm

Umesh has agreed to sell his house to Ganesh for rupees

10 lakhs. But that house was destroyed by an accidental fire

before Umesh could sell it to Ganesh. Ganesh institutes

a suit against Umesh for breach of contract. Decide. Marks : 6
VDB BF  WOVODTY nBePR D 08 sinTepleverat
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Q. No. 4. (a) What are the remedies available for a breach of contract ?
Explain. Marks : 10

30008 HUQOPIMON BRUBT TOBTITNTORR) ? DWORD.
OR/egs»
Explain general and spemal damages with the help of
decided cases. Marks : 10

DEFFOWTOL TFOLINY FHODROT RN & DJeR
BOTITFINGIY, DWOAD.
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(b) ‘A’ leaves an article at ‘B’s house by mistake. Can ‘A’
recover the article from ‘B’ ? Decide. Mark:
‘'R WORD WRBIY V'S WD, S0BO WA WOTRD.
‘03’3 ‘WAT & BJRISDIY ﬁ@mﬂmgwaocje 9 DeFOWRD.

OR/eg»

‘A’ contracts to supply goods on a specified day to ‘B’

A does not supply on that day, as a consequence of it ‘B’

has to close the factory. Advise remedies available to ‘B'. Mark
WOTD AOFR, DITOTDO  RTBIY @%maﬁ)mﬁ ‘W ‘W
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Q. No. 5. (a)What is meant by specific performance ? Who can claim it ?

Mark:
NOFR, 30308 QOTTE ? AT 03030 FEPLTOTO 7
OR/eBme
Explain perpetual and temporary injunctions. Mark

T8 =0 395908 QFOGETE NI, WEOAD.

(b) Rama is the owner of a building. Shama diposesses Rama
from this building by force. Advise Rama. Mal

o0 ﬁsucﬁdraotscﬁ am@’dmﬁmmﬁ. = ﬁuﬁd&ocﬁ mﬁmﬁa
TOROTI, 205, 3REND0T RRCHBTE. ToROIN ROD
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OR/eg=»

B, being a medical advisor, threatens to publish patientC's
written communications that are with him showing that C

has led an immoral life. What course of action would you
advise to C ? Explain. Me
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